FRAME SLIDERS
HONDA NC700 (’11-) (DCT model)

[L]

SOCKET HEAD M6 x 35

WASHER M10

COLLAR 3-6
SOCKET HEAD
M10 x 30 (P1.25)

COLLAR 3-6

SOCKET HEAD

M12 x 85 (P1.25
X85 (P1.29) SOCKET HEAD M6 x 40

SLIDER BASE [L]
SLIDER PUCK L10-100

[R]

WASHER M10

SLIDER PUCK L10-100

SOCKET HEAD

M10 x 30 (P1.25) SLIDER BASE [R]

COLLAR 20-12

SOCKET HEAD M12 x 85 (P1.25)



